H 5D B A
ELA—)L:1.2.3.4.5.6.7.8.9

BERAE ATLRYT

(WA—Hy b AUFER : BE36. &r40, FAy b £E% L) ouT k. k. k. |k, k. k
I N ROk kR k| 3k
2025%3AH20H8 (K)
NAME OUT| IN |GROSS|H cp| NET NAME OUT| IN |GROSS| H cp| NET

1% & 2% 46 |1 39| 85 [16.8 | 68.2 |32/4% A ;415553 108 [31.2 | 76.8
2 | Ak E Jx| 51 54| 105 |33.6 | 71.4 |33|4 ¥ & {4 55|53 | 108 [31.2  76.8
3R PP 3w b 4244 86 |14.4 | T71.6 [34|FE K 124143 84 | 7.2 76.8
41F W #4646 92 [20.4 | 71.6 |35|H L EHKT|54 48] 102 [25.2 | 76.8
50 b —|42 43| 85 [13.2 | 71.8 [36/7 KX ¢ 5]| 46 48| 94 |16.8 | 77.2
64 & & X 46 /38| 84 [12.0 | 72.0 |37|/m & = B| 47 47| 94 [16.8 | T71.2
TIKRESAR E 4 4745 92 (19.2 | 72.8 |38|>~x B2 F F| 45|43 88 (10.8 | 77.2
8% Fu 214249 91 [18.0| 73.0 (39|34 B E ;5 42|45 87 | 9.6 | T77.4
9B W B F|49 53| 102 [28.8 | 73.2 (40N B FH =|52 46| 98 |20.4 | 77.6
1004 & %141 45| 86 [12.0 | 74.0 |41 7 & #5048 98 [20.4 | 77.6
1T A& % #% 52 40| 92 (18.0 | 74.0 |42\1&£ %7 15 4T/ 48|50 | 98 |20.4 | 77.6
12/ & % F 45|40 85 [10.8  74.2 |43/ T & =|47)44) 91 [13.2 | 77.8
13K & % .43 /48| 91 |16.8 | 74.2 |44| K ¥ ¢ 5] 51 46 97 19.2 77.8
14K BF & BB 48 | 46| 94 (19.2 | 74.8 |4538 -k % E|46 50| 96 18.0 | 78.0
158 A 2 4=/ 54 51| 105 [30.0 | 75.0 |46/3% ¥ B 43 47| 90 [12.0 | 78.0
1672 & £ &5 |44 )43 87 1220 | 75.0 |47|%= 1t %46 50| 96 |18.0 | 78.0
17/88 8 F) % 47 | 45| 92 (16.8 | 75.2 |48/~ B2 B i 49| 51| 100 21.6 | 78.4
18/ #& 5. 5] 4244 86 (10.8 | 75.2 |49|> 1 & H|50[49| 99 20.4 | 78.6
19 | #K % At 47|45 92 [16.8 | 75.2 |50/ A & — 58|53 | 111 |32.4| 78.6
20 F] AT /247150 97 |21.6 | 75.4 |51 B ¥F 45 |48 55| 103 (24.0 | 79.0
21 W fo 4= 41 44| 85 | 9.6 | 75.4 |52/A &= v  PBH| 48 | 48| 96 |16.8 | 79.2
22|8R B8 %5 R 44 52| 96 [20.4 | 75.6 [53| K AT BL | 4649 95 |15.6 | 79.4
23|92 t8 15 = 42 47| 89 [13.2 | 75.8 |[54|A ¥ &K 52|49 101 [21.6 | 79.4
24 L, N h) 44 45| 89 |13.2 | 75.8 |55/ K 47  GL #=| 51 | 55| 106 |26.4 | 79.6
251 ® & B 42|41 83 | 7.2 | 75.8 |56/ % 1| 5147 98 [18.0 | 80.0
26 B B A #E 52 54| 106 [30.0 | 76.0 [57|%5 ® = = 48 60| 108 27.6 | 80.4
270 & ¢ 4| 49|50 99 [22.8 | 76.2 [58|& #8 ¥k —| 53|47 100 [19.2  80.8
28|92 t8 4F £ 4542 87 [10.8 | 76.2 (59|12 B & #6156 117 [36.0 | 81.0
29/ ®© By 5 47|46 93 |16.8 | 76.2 |60/p8 & ¥k |60 57| 117 136.0 | 81.0
30 AR &F &% Ao 46 52| 98 |21.6 | 76.4 |61\ W [ k|60 49| 109 [26.4 | 82.6
31& & ¥ %% 47|50 97 |20.4  76.6 |62/ A8 4 = |56|56| 112 22.8 | 89.2
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